




















ints & Explanations N

9. (e) " 1kilometre = 1000 metres 16, (a) A point does not have height,
s Bkm60m =5x1000m+60m width and length but it has a place.

= 5060 m. 17. (a) ' 1 centimetre = 10 millimetres
10 (b) Cost of a bag =% 145.75 . T34 centimetres = 734 » 10
Cost of an instrument =¥ 23.25 = 7340 millimetres.
Total money paid by peter = 18. (b) Total parts of pi& -
T (145.75 + 23.25) =¥169.00. Parts eatenby Priya = 2
11. (a) ' Rotation of second hand of a Parts left.=3

3
-, Fraction of the pizza left = 5

.. Rotation of second hand of a 19. (e¢) (A) 3 4, (B) 53 . (C) = 2, fD) -3
watch in 30 minutes

watch in 1 minute =1

20.(d) Length of red ribbon = 3m 5 cm

=1 x 30 = 30. .
Length of blue ribbon = 2m 13c¢m
12. (e) ‘. The cost of 19 pens =T 247 ,
Total length of ribbons =
. _ 247 m cm
.. The cost of 1 pen = —1—9--¥13 4 05
+ 2 13
.. The cost of 30-pens
5m 18 cm

=% 13 x 30 =X 390.
21. (¢) 4786239

13 (b) 2735 + 5287 — 3756 lsg
30
= 7972 - 3756 200
\ 6000
= 4216 80000
: ey 700000
14. (a) A square has four vertices and ——— 4000000
four equal sides. Place value of digit 6 is 6000.
15. (c) Given, 56 +47-23=89+5-7 Face value of 6 is 6
103-23=89+5-7 . Sum = 6000 + 6 = 6006
80=94-7 22. (a) Sum of place value of digits of a
number is its expanded form.

Subtracting 14 from 94, we get 80.
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(e) an & have same ook
T 7 32. (a) The fw divided into 8

- denomin equal parts. !
@) . Cost of 4 pens = T 64 F. Y | 3
e v i idon for shaded part= =,
& it

F’a . Cost of 1 pen =67: 33/@01:31 questions = 40

gfl ot ; % Marks for questions carry 2
- ! ] = LAl |
+» Cost of 5 pens marks = 30 x 2 = 60 "

po Y

= —Xb = X
1 I 83.75

\\/ marks = 10 x 4 = 40
0 %3.25

28. (b) Cost of 1 note bo

g Total ]I]_arks - 60 + 40 :I |:| I J._
,: Cost of 9 note$ "

., P

Marks for questions carry 4

= 100 marks.

=9x13. 5?; 19.25 e i
(a) - - Cost'ef 6 balloons =39

=) 9 3_1 2_
-. Oobt of 1 balloon =% — 35. (0 5=3 ¢







